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* 6.4-1 B H (RAAIRE) ARG R (S-1~6)
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S-1 <10 <10 <10 <10
S-2 <10 <10 <10 <10
S-3 <10 <10 <10 <10
S-4 <10 <10 <10 <10
S-5 <10 <10 <10 <10
S-6 <10 <10 <10 <10
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* 6.4-2 FrEEEWERE 22 HE) HAR R (S-1~2)

FEH K 29F 8 A 7 H(EF) HiA7 : ppm
AL

EH - WAL St 52
Troe=7 0.6 0.2
fitfbk & <0.002 <0.002
AFIVANT T B <0.0002 <0.0002
il A F v <0.001 <0.001
Rk A F v <0.0009 <0.0009
N AXAFALT I <0.0005 <0.0005
TERNTATER <0.005 <0.005
A= - iy ol o N <0.005 <0.005
SV IV TF AT ILT B R <0.0009 <0.0009
ALY TFAT LT R <0.002 <0.002
IR LT ILT e R <0.0009 <0.0009
AL IRV ALT AT e R <0.0003 <0.0003
AT H =) <0.09 <0.09
e — 5 v <0.3 <0.3
AFNA I TF N N <0.1 <0.1
== <1 <1
AF L <0.04 <0.04
L <0.1 <0.1
7oA g <0.003 <0.003
J v~ )L K <0.0001 0.0004
J Vv~ Vi EiR <0.00009 <0.00009
AV HER <0.0001 <0.0001
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A ARG R (S-1~2)

A H Rk 30 4F 1 H 18 H (&%) B ppm
i AL
HH - WA 51 52
FUE=T 0.1 <0.1
it Ak K 57 <0.002 <0.002
AFIVANT T H <0.0002 <0.0002
fitf A F v <0.001 <0.001
Ak A F v <0.0009 <0.0009
MU XAFNLT I <0.0005 <0.0005
TERTALTE R <0.005 <0.005
oA TaT e R <0.005 <0.005
NIV TFILT AT R <0.0009 <0.0009
A TFATILFE R <0.002 <0.002
JI= LN ILT LT B R <0.0009 <0.0009
A YNRNLALTILFE R <0.0003 <0.0003
AT H =) <0.09 <0.09
FElg = 5 L <0.3 <0.3
AFNA ) TFNT R <0.1 <0.1
Fr= <1 <1
AF L <0.04 <0.04
v <0.1 <0.1
ARV <0.003 <0.003
V= VTR <0.0001 <0.0001
J V=)L EER <0.00009 <0.00009
AV HEE <0.0001 <0.0001
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# 6.4-4 [IEHFAEMK (HF)
FA R TRk 294 8 1 7 H
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T H S-1 S-2 S-3 S-4
R f 7Y 20 2 =
KIR
C) 31.2 30.2 31.3 31.0
.
(%) 52 74 62 63
JEL 1) 5] 7 R R
L 2.3 3.3 2.3 2.2
(m/s)

#* 6.4-5 K[LEFAMRE R (XF)
AR R3304 1 8 18 H

Hh A

. s-1 s-2 s-3 S-4
R A kg kg =) 2
KR
(C) 10.2 16.6 4.6 5.1
T
(%) 90 60 88 83
JEL 7] 53] [E3) 74 [Fagic)
2 1.0 1.8 1.1 1.3
(m/s)




